HEBIEANBEF DL RELGES

F—SHEHN (BHEEEBEMIARRFR)
ENEUEEINETES

(B) #f5F4818 (&) ©#6&£3H31H

(BT : /M)
BhERIE FE(A) SRE(B) ER(A)-(B) =

ES-11'ON 9,443,000 9,929, 000 -486, 000
HHIEIRA 1, 650, 000 1,590, 668 59, 332
REREWBRUIA 39,418, 000 39,287, 112 130, 888
FHEEWRA 224, 629, 000 213, 306, 836 11,322, 164
EHE=J'ON 400, 000 222, 640 177, 360

'f E-ESI'ON 130, 000 177, 200 -47,200

| (NMERRBEZRA 20, 843, 000 19, 362, 095 1,480, 905
% |EEEIY -SSR 6,572, 000 3,298, 350 3,273, 650
B | SERARERNSRA 1,303, 000 641,022 661,978
i’] ZOMOUIA 2,519, 000 2,752,090 -233,090
| |BEEESRAR (1) 306, 907, 000 290, 567, 013 16, 339, 987
3| | ApESZH 207, 394, 000 186, 223, 220 21,170, 780
IR |sgEz 87, 588, 000 76, 648, 257 10, 939, 743
2| | mgms 11, 870, 000 11, 263, 332 606, 668
FAEGEES T 400, 000 242, 640 157, 360

| ma e 9,358, 000 9,184, 061 173,939
aIRE%H 5,113, 000 2,569, 475 2,543,525
ZOMOZE 251, 000 0 251, 000
BEEHTHE (2) 321,974, 000 286, 130, 985 35,843,015

. EREEHASNTEE (3) = (1) - (2) -15, 067, 000 4,436,028 -19, 503, 028
pu ”; MEREEREIRAG (4) 0 0 0
% % |BIEEERES S 2,206, 000 2,184,090 21,910
; | issemS = PEt (5) 2,206, 000 2,184,090 21,910
2 |EREFHSERITER (6) = (4) - (5) -2, 206, 000 -2,184, 090 -21,910
{2 . BRI 88, 620, 000 86, 740, 000 1, 880, 000
o | 2 |FEIEERHRA 3,572,000 3,571,200 800
E=| |eotoEEBURAG (7) 92,192, 000 90, 311, 200 1, 880, 800
| |EemuaEsH 84, 020, 000 84, 020, 000 0
e i AR 6,047, 000 5,985, 696 61,304
‘; ZOMMOTFEENZHET (8) 90, 067, 000 90, 005, 696 61,304
g |[EOoEBERINEERE (9) = (7) - (8) 2,125,000 305, 504 1,819, 496
FlRgEZH (10) 500, 000 500, 000
WERESINTELESE (11) = (3) + (6) + (9) - (10) -15, 648, 000 2,557, 442 -18, 205, 442
HIERSIERRS (12) 16, 215, 000 76, 878, 095 -60, 663, 095
UERSIERES (11) + (12) 567, 000 79, 435, 537 -78, 868, 537




